Games, graphs, and machines

0.00450% —
0.00400% -
0.00350% —
0.00300% -
0.00250% —
0.00200% -
0.00150% -

theorem (All)
0.00100% -

0.00050% — Lemma (All)
A\ corollary (All)
0.00000% -

1600 1650 1700 1750 1800 1850 1900 1950 2000

October 2, 2024



Pumping lemma 1

Use the pumping lemma to show that L = {0"1" | n > 0} is not regular.



How to think about the pumping lemma?

Machine | can recognise L.

You How many states do you have? LN\%
Machine 212 e ,
Confusing
You What would you do tq/03001300% C to wodmne
Machine Accept, obviously. Y Yo oy

You And as you are reading that, you loop in the first 212 bits?
Machine Of course.

You If you double that loop, do you still accept?
Machine VYes, | guess.

You Checkmate!
-ioo?
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Pumping lemma 2

Use the pumping lemma to show that L = {Palindrome} is not regular.
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Pumping lemma 3

Use the pumping lemma to show that L = {0"1™ | n > m} is not regular.
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Pumping lemma 4

Use the pumping lemma to show that L = {ww | w any string} is not
regular.
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